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This paper is of thirty (30) marks divided into three (03)
sections A, B and C. Learners are required to attempt the
questions contained in these sections according to the
detailed instructions given therein.

: g U9H-UF i (30) 3ienl o1 & W <A (03) WSl 6, @ 3R

T H foafaa ) foranfofal o 3 @i § fu o faga fdit
& AR € Ul Sl T BT B
Section - A / WE-h

(Long answer type Questions) /( S 3T a1 W9 )

Note :

<

Section 'A’' contains four (04) long-answer-type questions
of 72 marks each. Learners are required to answer any
two (02) questions only. (2x72=15)
T ‘%' § 9N (04) € IS arer uve T e, ue uee
% fete 71 3k Traifia € | Rranfial =0 o & dae & wol
HIWAE
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1. () Write a note on Lewis concept of acids and bases.
04
(b) Explain Bronsted-Lowery concept of acids and bases
with suitable examples. 3%
(31) 39 F 3T 9 &R SEURI W fewuh fafer
(9) 3R Higd FLs-Aad Tl STFA-§R STaYURN <1
U RIS |
2. () With reference to oxidation state, make comparison
between actinides and lanthanides. 2Ys
(b) Discuss the electronic configuration and coordination
compound formation properties of actinides. 05
(31) AT G&A1 i T3 ol g TRIAES ae oreeTEs
Tl i G hited |
(F) TS Tl  Seiael e o= U6 3 gRI STHesarst
Aifier 9 & 7Ot fag=m S
3. Discuss, step by step, the IUPAC system of nomenclature of
coordination compounds. 7Y
SUGEEASTt FifiTen! & A0 H [UPAC 95T 1 9uiq fogar
wHifs |
4. () Mention the importance of conducting chemical
reactions in non-aqueous solvents. 2
(b) Discuss the precipitation and complex formation
reactions carried out in lig. Ammonia. 05
(31) TEEfTE fRanst & o1ty faerast § gae s &
g i g |
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(¥) Wa Hf § g4 aic SEeiuu qon Sudeqdrst
Qi a9 Ht sfufwanett w1 gui HisE |
Section - B / @8-@

(Short answer type Questions) ( T I 9T U9T)

Note : Section 'B' contains eight (08) short-answer-type questions

<

of 22 marks each. Learners are required to answer any
four (04) questions only. (4x2'2=10)

g ‘@' U 31s (08) 7Y SRl At wo few e €, wedes woe
& ot 2Y; i Treifa € | frenfelan & T/ § Sad o)
TN I E |

Draw geometrical and optical isomers of [CoBr (en) [*

[CoBr,(en),]" & & SOHAE qel Yehieitd SHEFS i
{@fehd Hifs |

Mention, in brief, the lanthanide contraction.

fera o erOATEe Weped #1 Ui HY |

Explain the difference between outer orbital and inner orbital

complexes.

e HITT qAT STA:HITNT ARl & HET T I a6l 3R
S TR |

Which of the following ions are expected to be coloured and

why ?
Sc?, Mn?*, Cu?, and Fe?
= o 9 B 9 Al & TiF BR ) erdam 2 3R = 2

Sc?, Mn?*, Cu?, and Fe?
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Note :

What is redox potential ? Explain the applications of redox
potential data.

SAferdi-Su=ee fave 1 €2 39 Sl & ITN «asy |

Explain with examples, ionization and coordination isomerism

found in coordination compounds.
ST Higd SuTEaArSt AfeR o it M el e T
A GHETEA G |

Discuss magnetic properties of complex salts and oxidation

states of first d-transition series elements.

o d- 9 % GhA0 qcl bl SRR G&AT A1 3T
Fifiepl ¥ U WM o g Tl 1 9ol S |

Explain effective atomic number taking examples.
ISR & MY, JHE WA H&AT hl GHSEY |
Section - C / @S-

(Objective type Questions) / ( TS TIT)

Section 'C' contains ten (10) objective-type questions of
one 2 mark each. All the questions of this section are
compulsory. (10x%=5)

: @g M H T\ (10) TGS vvA fou U E, ueew we &

fom v, ot fauiftm & | 30 T & |t wo effEm & )

The number of unpaired electron/s in Co atom is :

(@)  one (b)  two

(c) three (d) four
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Co & T § U WM el SRFd Soee/ Soleem &t

e ¢ -
() T (@
() (3) =W
2. Fe (iron) generally forms coordination compounds with

coordination number :

@ 7 b 6

© 5 d 4

Fe Tm=d: fha SUdedaSt & & W SUgedarst Afin
CEIG I

(1) 7 () 6

(| 5 () 4

3. [CoONO(NH,).J** and [CoNO(NH,),]*" are examples of :
(a) ionization isomerism
(b) hydrate isomerism

(c) coordination isomerism
(d) linkage isomerism
3. [CoONO(NH,),J?* @&t [CoNO,(NH,) ]** HHTerredl & 3EeL0
o
(&) I () e
(9) gaH (3) HHrY
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4. dsp? hybridization in a central metal ion leads to formation
of:

(a) tetrahedral complexes
(b) square planar complexes

() octahedral complexes
d)  none of the above

H19 ug A § dsp? TR © S AR ST €, o 8-
(31) ARSI Alfieh

(9) EHACE AT

(W) oT=whasd AT

(F) ST H *Ig &l

5. Which one of the following element does not belong to f-
block of periodic table ?
(@) Ce (b) Lu
(c) Re (d) Nd
e ¥ & W 9 e 9 gy A W © 2
(1) Ce (d) Lu
(¥) Re () Na
0. Which one of the following should possess highest magnetic
moment ?
(a) Fe* (b) Co?*
(c) Ni* (d) Mn?*
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e sl o o W ST ifushad Rt STl T € 2

(31) Fe* () Co*
() N () Mn*
7. Write a reaction showing auto-ionization of lig. SO.,.

59 SO, & Td: IR0 i AfAfshar =l fafed

8. The first element of second d-transition series is :
(@) Sc (b) Y
(c) La (d) Ac
fadfa d-dwmor ql ) it 1 wEen a2
(31) Sc ) Y
(") La (D Ac

9. How many moles of CI™ ions should be precipitated by (aq)
AgNO, from a solution of one mole of CoCl,. 6NH, ?

(@) one )  two
(c) three (d) four

CoCl,. 6NH, % T a7 foiei@™ ° AgNO, & g Thad At
Cl- 3 sfagifad =i 2

() T (@) =
(§) dH () =
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10. A solution of Ac* ions should appear :

(a)  Green (b)  colourless
(c)  blue d  red

Ac*® 3T 1 fae@a fe 1 &1 8 2

(31) =T () YTEF

(@) it () o
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